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Telephone Survey Research Laboratory, Hong Kong Institute of Asia-Pacific Studies, The
Chinese University of Hong Kong

185% el | ~ #REREE A REER
Hong Kong citizens aged 18 or above speaking Cantonese or Mandarin

DL BB S Bh BB 555 £2.4% ( Computer-Assisted Telephone Interviewing, CATI) #E4T
BRI TIE - B 7720540 71,0014 185 U BB g i R (fF
BWEE/KFET » filkgeAz= Ry + 3.10%) - FHEEACEREE YN THERE - [
JEZR 771 5530.9% 52 31.4% » FFERIEA MY EARAE -

Random sampling was adopted using CATI (Computer-Assisted Telephone Interview)
system. 1,001 respondents aged 18 or above speaking Cantonese or Mandarin were
interviewed. Sampling error is within £3.10% at 95% confidence level. The survey sample
contains both landline and mobile, their response rates are respectively 30.9% and 31.4%,
satisfying the scientific standards of survey.

Ry T A FRE N MR B AN iV E B - SR T O R E B BUN
et ER AAAHY 2020 FR 18R B LA B MR R AR o i (FIBRSMNEE 2 E (R FDHs )
{ENIRE  (weighting) FRER o FLA0 - HHNEIIREREE LG HIR RS 1A » EHRA
(EGIEEIEE se2 EERN-FEE SUEESHAUN

To better represent the distribution of the Hong Kong population, all data were weighted
by the proportion of gender and age of people aged 18 or above (excluding foreign
domestic helpers) according to the mid-year population for 2020 released by the Census
and Statistics Department. The figures in this survey may not add up due to rounding errors
and weighting



A
Survey Results

2t LU B BTG - 715 P 7 0F - 188, HEHIE A H# ) NI EIEEY -
Note: All data were weighted for analysis. When calculating the mean, samples responded “88. Don’t know / Difficult to

say” are excluded

PR AR T T R T BRI HEREEEER - MR RE TIREARER, o ToRE TIFER
B o (RAREELIT EAEGEEREEEE ? 5 (QLEQINIX T GHEIRETT)
‘We would like to know how the public understands “one country, two systems” in Hong Kong. On a scale where
1 indicates “strongly disagree” and 7 indicates “strongly agree”, to what extent do you agree with the following

descriptions of Hong Kong after the handover?’ (The sequence of Q1 to Q9 will be randomly displayed)

Ql "[Efzi&  FEBETIHSEEE  BITRERFEANGTEER - IRERERE? 1272 > {REH
#2570E ?

Q1 “After the handover, Hong Kong has been able to practice a high degree of autonomy, and has been able to
handle its own internal administrative affairs. To what extent would you agree? From 1 to 7, what score will you

give?’
BB Hortk HRHE T FEHE
Frequency Percentage Valid % Cumulative %
1 1 303 30.3 30.3 30.3
2 2 177 17.7 17.7 48.0
3 3 122 12.2 12.2 60.2
4 4 87 8.6 8.6 68.8
5 5 118 11.8 11.8 80.6
6 6 83 8.3 8.3 89.0
7 7 97 9.7 9.7 98.7
8. VB / f7EEE 13 1.3 1.3 100.0
Don’t know/ Difficult to say
4E=1(Total) 1001 100.0 100.0
HRUEA Valid Sample: 1001 B EEA Omitted Sample: 0
3543 Mean: 3.18 fE#E = Standard Deviation: 2.068



Q2 T[EEFZI% - FBRBERSEEIIEEARE - IRERERE ? 1277 IRGHEL D ? |
Q2 ‘ After the handover, Hong Kong has been able to maintain independent judiciary powers. To what extent would

you agree? From 1 to 7, what score will you give?’

SE E4EE BFYESE EREESH
Frequency Percentage Valid % Cumulative %
1 1 266 26.6 26.6 26.6
2 2 150 15.0 15.0 41.6
3 3 130 13.0 13.0 54.6
4 4 100 10.0 10.0 64.6
5 5 126 12.5 12,5 77.1
6 6 101 10.1 10.1 87.2
7 7 109 10.9 10.9 98.1
o8, DEAIE / fTEEE 19 1.9 1.9 100.0
Don’t know/ Difficult to say
g&=1Total 1001 100.0 100.0
FHREEA Valid Sample: 1001 HRERBEA Omitted Sample: 0
¥4y Mean: 3.41 12 % 3£ Standard Deviation:
2.093

Q3 "EIEFZ 1% » HHEEERFTEETRIILARE - (REREIRYE ? 12777 > IRgEHRE&LIUE ? |
Q3 “After the handover, Hong Kong has been able to maintain independent legislative powers. To what extent

would you agree? From 1 to 7, what score will you give?’

HHEL Horth BHRE S BN =P
Frequency Percentage Valid % Cumulative %
1 1 275 275 275 275
2 2 188 18.7 18.7 46.2
3 3 114 11.4 11.4 57.6
4 4 97 9.7 9.7 67.3
5 5 112 11.2 11.2 78.5
6 6 104 10.4 104 89.0
7 7 84 8.4 8.4 97.3
gg, LU / AFHEGH 27 2.7 2.7 100.0
Don’t know/ Difficult to say
4&=+Total 1001 100.0 100.0
HRUEA Valid Sample: 1001 HEREA Omitted Sample: 0
S35y Mean: 3.24 12 % 22 Standard Deviation:

2.043



Q4 TEEFZI% - BB NEEERFAAET N - (RERERIE? 12770 IREHEZIIE? |
Q4 * After the handover, the original ways of life of the Hong Kong people have maintained. To what extent would

you agree? From 1 to 7, what score will you give?’

SR E4EE ARESE  BEESHT
Frequency Percentage Valid % Cumulative %
1 1 198 19.7 19.7 19.7
2 2 150 149 14.9 34.7
3 3 155 15.5 15,5 50.2
4 4 106 10.6 10.6 60.8
5 5 127 12.7 12.7 73.5
6 6 113 11.3 11.3 84.7
7 7 138 13.8 13.8 98.5
gg, oAU/ A 15 15 15 100.0
Don’t know/ Difficult to say
g&a=+Total 1001 100.0 100.0
FHREA Valid Sample: 1000 BREREA Omitted Sample: 1
¥4y Mean: 3.72 12 % 3£ Standard Deviation:

2.083

Q5 "[HEFzit  FAREEZASHAR - IFARERE? 12770 @ IRGE&EZTUE ? |
Q5 “After the handover, Hong Kong continues to enjoy the freedom of speech. To what extent would you agree?

From 1 to 7, what score will you give?’

HHEL Horth BHRE S BN =P
Frequency Percentage Valid % Cumulative %
1 1 298 29.7 29.7 29.7
2 2 157 15.7 15.7 45.5
3 3 147 14.7 14.7 60.2
4 4 91 9.1 9.1 69.3
5 5 97 9.7 9.7 79.0
6 6 67 6.7 6.7 85.7
7 7 134 13.4 13.4 99.1
gg, LU / AFHEGH 9 0.9 0.9 100.0
Don’t know/ Difficult to say
4&=t Total 1001 100.0 100.0
HRUEA Valid Sample: 1001 HEREA Omitted Sample: 0
354y Mean: 3.27 12 % 22 Standard Deviation:

2.132



Q6 "[HfFzi% » HHAEMREBUHEEE - IEGRRIEAEERE - Bt g E® - InARERE ? 12
753 IRGHEZIE ?
Q6 “After the handover, the development of Hong Kong’s democratic system has been progressively implemented,

following the provision of the Basic Law. To what extent would you agree? From 1 to 7, what score will you give?’

HREL Hortk BRHE EX =P
Frequency Percentage Valid % Cumulative %
1 1 383 38.3 38.3 38.3
2 2 159 15.9 15.9 54.1
3 3 82 8.1 8.1 62.3
4 4 90 9.0 9.0 71.3
5 5 98 9.8 9.8 81.1
6 6 73 7.3 7.3 88.3
7 7 87 8.7 8.7 97.0
gg, oAl / A 30 3.0 3.0 100.0
Don’t know/ Difficult to say
44=t Total 1001 100.0 100.0
BREA Valid Sample: 1001 BYEREA Omitted Sample: 0
¥4y Mean: 2.92 fE%EsE Standard Deviation: 2.083

Q7 "HEFzi% » FAENEERERDA—EFE - IRARERE? 1277 REHEESUE? |
Q7 ‘After the handover, Hong Kongers continue to be treated equally before the Law. To what extent would you

agree? From 1 to 7, what score will you give?’

HHEL Hortk BHRE S BN =P
Frequency Percentage Valid % Cumulative %
1 1 311 311 31.1 31.1
2 2 136 13.6 13.6 44.7
3 3 86 8.6 8.6 53.3
4 4 112 11.2 11.2 64.4
5 5 112 111 111 75.6
6 6 90 9.0 9.0 84.6
7 7 127 12.7 12.7 97.3
gg, LU / AFHEGH 27 2.7 2.7 100.0
Don’t know/ Difficult to say
4&=t Total 1001 100.0 100.0
HRUEA Valid Sample: 1001 HEREA Omitted Sample: 0
354y Mean: 3.36 fE#EZE Standard Deviation: 2.187



Q8 [Olffzig » HAF LMMEIMERR T - MR - MARERE? 1277 TEH%%
e ?
Q8 ‘After the handover, Hong Kong is able to keep intact the sovereignty of China, national security and profits

from development projects. To what extent would you agree? From 1 to 7, what score will you give?’

HREL Hortk BRHE EX =P
Frequency Percentage Valid % Cumulative %
1 1 141 14.1 14.1 14.1
2 2 108 10.8 10.8 24.9
3 3 122 12.1 12.1 37.0
4 4 159 15.9 15.9 52.9
5 5 119 11.9 11.9 64.8
6 6 140 14.0 14.0 78.8
7 7 175 17.4 17.4 96.2
gg, oAl / A 38 3.8 3.8 100.0
Don’t know/ Difficult to say
9. IHABEIE 1001 100.0 100.0
Refused to answer
BREA Valid Sample: 1001 BYEREA Omitted Sample: 0
¥4y Mean: 4.17 fE%EsE Standard Deviation: 2.05

QY "[EEFZI% - B EIRIIERIEE - INAKERIE ? 1277 IRGHEEL DI ? |
Q9 “After the handover, Hong Kong is able to maintain prosperity and stability in the long term. . To what extent

would you agree? From 1 to 7, what score will you give?’

HEEL Horth BHRE ZrEE L
Frequency Percentage Valid % Cumulative %
1 1 195 19.4 194 194
2 2 152 15.2 15.2 34.6
3 3 161 16.1 16.1 50.7
4 4 126 12.6 12.6 63.2
5 5 142 14.2 14.2 77.4
6 6 109 10.9 10.9 88.3
7 7 102 10.1 10.1 98.4
gg, A/ AR 16 16 16 100.0
Don’t know/ Difficult to say
4&=t Total 1001 100.0 100.0
HtEA Valid Sample: 1001 FEREA Omitted Sample: 0
354y Mean: 3.61 fE%Es2 Standard Deviation: 1.981



Q10 "HEEFSIE - (R FEE TG, AR ? MR TIEE A, BTN TIE
W) 0 12777 IREEREZIUE ? |
Q10 ‘how successful has the practice of “Hong Kong people administering Hong Kong” been? If 1 indicates “very

unsuccessful” and 7 indicates “very successful”, what score will you give?”

HEEL Horth BRHE ZrEHE L
Frequency Percentage Valid % Cumulative %
1 1 383 38.3 38.3 38.3
2 2 173 17.3 17.3 55.6
3 3 112 11.2 11.2 66.7
4 4 87 8.7 8.7 75.4
5 5 114 11.4 11.4 86.9
6 6 68 6.8 6.8 93.7
7 7 51 5.1 5.1 98.8
gg, oAl / A 12 1.2 1.2 100.0
Don’t know/ Difficult to say
99. #E4E[O% Refused to answer 1 0.1 ﬁ%@_
Omitted
44=t Total 1001 100.0 100.0
BREEA Valid Sample: 1000 BYEREA Omitted Sample: 1
354y Mean: 2.78 fE#EZE Standard Deviation: 1.918

Q11 TRARA(E LEBMANK (RI20474H]) fEeE s " —BRIH 5 UE ? WRLIAE TIEESTE
Lg 0 BT AER TIEEAEL.  1ET D IRGHREZDE?
Q11 ‘How confident are you in the full implementation of “One Country, Two Systems” in Hong Kong in the

future (before 2047)? If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’

HEEL Horth AHRE FEBH 7t
Frequency Percentage Valid % Cumulative %
1 1 454 45.3 45.4 45.4
2 2 131 13.0 13.1 58.5
3 3 73 7.3 7.4 65.9
4 4 63 6.3 6.3 72.2
5 5 101 10.1 10.1 82.3
6 6 66 6.6 6.6 88.9
7 7 91 9.1 9.2 98.1
gg, oA/ AR 19 1.9 1.9 100.0
Don’t know/ Difficult to say
09. B4R Refused to answer 3 0.3 @%ﬁ_
Omitted
g8=t Total 1001 100.0 100.0
BHtEA Valid Sample: 998 FEREA Omitted Sample: 3
354y Mean: 2.79 fE%Es2 Standard Deviation: 2.127



Q12 " #HYEMNIIET IR G - Ritth vl BB S R e DU - (RA SRS LIE 7 MR 13K
® TEEGEL. » ZToE TREREL. 121D (REHEZT 7

Q12 “When conflicts between mainland China and Hong Kong arise, how confident are you that the conflicts can
be resolved through consultation and dialogue? If 1 indicates “very unconfident” and 7 indicates “very confident”,

what score will you give?’

SES E4EE BRESLE B E S
Frequency Percentage Valid % Cumulative %
1 1 416 41.5 41.7 41.7
2 2 169 16.9 16.9 58.6
3 3 71 7.0 7.1 65.6
4 4 95 9.5 9.5 75.2
5 5 94 9.4 9.4 84.6
6 6 63 6.3 6.3 90.9
7 7 71 7.0 7.1 97.9
gg, EAID/ A 21 2.1 2.1 100.0
Don’t know/ Difficult to say
99 B4R [0 E 3 0.3 EME_
Refused to answer Omitted
g&=+Total 1001 100.0 100.0
BHEA Valid Sample: 998 B EREA Omitted Sample: 3
¥4y Mean - 2.75 fE%Es2 Standard Deviation: 2.007

Q13 "R1IpHRFE FIEEAAE L  TE TIEEAB L. - METEREHEA KRGO ? 127
73 NGRS E?
Q13 “If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’, how confident

are you in the education system of Hong Kong?’

AR Horth HRHE FEBH 7t
Frequency Percentage Valid % Cumulative %

1. Ly (GIREAEL) 370 37.0 37.0 37.0

2. 257 173 17.3 17.3 54.3

3. 35 205 20.5 20.5 74.8

4, 45y 79 7.9 7.9 82.7

5. 57 86 8.6 8.6 91.3

6. 6457 21 2.1 2.1 93.3

7. T GEEAREL) 40 4.0 4.0 97.3

88.  MEXIE / 4FEEH 27 2.7 2.7 100.0

gE=1tTotal 1001 100.0 100.0
ERUEA Valid Sample: 1001 BHEREA Omitted Sample: 0
S354y Mean: 2.55 fE%Es2 Standard Deviation: 1.666



Ql4 "WML AE TIFEAEE, > TRFE TIEERE, - B TIREGEEEA, BES 0 RE %
[FUE ? 1279 IREGEEZIIE? |
Q14 “If 1 indicates “extremely weak” and 7 indicates “extremely strong”, how strongly do you identify yourself

as a Hong Konger? From 1 to 7, what score will you give?’

HREL Horth AHRESE EX =P
Frequency Percentage Valid % Cumulative %
1 1 14 14 15 15
2 2 25 25 2.5 4.0
3 3 32 3.2 3.3 7.2
4 4 70 6.9 7.0 14.2
5 5 137 13.6 13.8 28.0
6 6 205 20.5 20.7 48.7
7 7 488 48.8 49.2 97.9
IE 418 Z
gg, DU / AFHEGH 21 21 2.1 100.0
Don’t know/ Difficult to say
99. #E4E[O% Refused to answer 9 0.9 ﬁ%@_
Omitted
48=1 Total 1001 100.0 100.0
BREEA Valid Sample: 992 BYEREA Omitted Sample: 9
1543 Mean: 5.94 fHi%Es= Standard Deviation: 1.418

Q15 TR TIEEARE, - 70K TIEERE . - #HHY THAETEA . TEES ) - A%
[FUE ? 1279y (REEZEZIIE?
Q15 “If 1 indicates “extremely weak™ and 7 indicates “extremely strong”, how strongly do you identify yourself

as a Chinese? From 1 to 7, what score will you give?’

HEEL Horth AHRE FEBH 7t
Frequency Percentage Valid % Cumulative %
1 1 215 214 215 215
2 2 156 15.6 15.6 37.1
3 3 114 11.4 11.4 48.5
4 4 69 6.9 6.9 55.4
5 5 91 9.0 9.1 64.5
6 6 89 8.8 8.9 73.3
7 7 254 254 25.5 98.8
gg, oA/ AR 12 1.2 1.2 100.0
Don’t know/ Difficult to say
99. IE4B[E% Refused to answer 2 0.2 @%ﬁ_
Omitted
g8=t Total 1001 100.0 100.0
HtEA Valid Sample: 999 FERBEA Omitted Sample: 2
354y Mean: 3.96 fE%Es2 Standard Deviation: 2.341



Q16 "R1pRFE FIRHEEWRE s » T TIEEME s - IREAH BB /KA SEEIE ? 127
73 NGRS E ?
Q16 “If 1 represents “very unsatisfied” and 7 represents “very satisfied”, how satisfied are you with the quality of

the work of civil servants?’

HREL Hortk BRHE EX =P
Frequency Percentage Valid % Cumulative %
1 1 125 12.5 12.5 12.5
2 2 149 14.9 14.9 27.4
3 3 254 254 254 52.7
4 4 199 19.9 19.9 72.6
5 5 132 13.2 13.2 85.8
6 6 86 8.5 8.5 94.4
7 7 45 4.5 4.5 98.8
gg, oAl / A 12 1.2 1.2 100.0
Don’t know/ Difficult to say
44=t Total 1001 100.0 100.0
BREA Valid Sample: 1001 BYEREA Omitted Sample: 0
¥4 Mean: 3.51 fE%EsE Standard Deviation: 1.625

Q17 "[EIEFLAAK - AR TR g EEABEAMHIRE D E o SRR R E T EER
WUE ? Aoe 2 mAt ~ RELGRAM ~ —F2F ~ REAER - ERTRGERE?

Q17 ‘After the handover, the implementation of “One Country, Two Systems” has led to conflicts between Hong
Kong and mainland China. Generally speaking, which side bears the greater responsibility? Is it totally mainland

China’s, mostly mainland China’s, mostly Hong Kong’s or totally Hong Kong’s?’

HHEL Hortk BHRESE REHEEE
Frequency Percentage Valid % Cumulative %
52 j\ i
,  EEEA ﬁj , 125 125 125 125
Totally Mainland China’s
27 /£ 2 1
o RETTFRPYH Mostly Mainland o o 275 27.7 40.2
China’s
3. —2F Half-Half 375 37.5 37.7 77.9
hvA QA 'Z A
g NETREE Mostly Hong o 12,6 12.7 90.6
Kong’s
5. 5644 #: Totally Hong Kong’s 58 5.8 5.8 96.4
[ 2] 335 x >
g |HAUH /AFHEGE Don’t know! 50 36 36 100.0
Difficult to say
Z77 Vo
99 EiEE{EIRS 5 05 n‘%ﬁfﬁ_
Refused to answer Omitted
4=t Total 1001 100.0 100.0
BHtEA Valid Sample: 996 FEREA Omitted Sample: 5



Q18 " {Re8 R & ABA204T 1% FEVE FEZ 1T T —RUWIH] 4 E 2 4
Q18 “Would you agree that Hong Kong should continue to implement “One Country, Two Systems” after 2047?’

SEBY E5EE BRESE BEESHT

Frequency Percentage Valid % Cumulative %
1. JE:Z Yes (Z&[Hcontinue to Q19) 658 65.7 66.7 66.7
NEERZ No (Blitskip to Q20) 145 14.5 14.7 81.4

HAtr - B ETT AR BIZEAR]
F9— B
(484 Continue to Q19) 10 1.0 1.0 82.4
Others: Continue to exercise 1C2S
as before/ the introduction of 1C2S
6. HAth - E&OIHE—EIRH], B
BT Bl A — B R
(BEF skip to Q20) 36 36 36 86.0
Others: 1C2S no longer exists/

1C1S already in place/ 1C2S is
non-existent

8.  MEAIME 4 #EEE Don’t Know/

Difficult to say(BkFsskip to Q20) o0 138 14.0 100.0
0 ?Eé@_lﬁ]%\? Refused to answer (B 14 14 HYE

fifiskip to Q20) Omitted

4a=t Total 1001 100.0 100.0
BREEA Valid Sample: 987 BHYEREA Omitted Sample: 14

10



Q19 "R RAEEAE 20474 » DU EM Rk & W B0 2047 e @& E T T —BIWHl , AFIWE ? 4 (B
L HQL8IE & FERL Y 2578 » Al B2 TH)

Q19 ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One
Country, Two Systems” after 2047? (Only respondents who agree Hong Kong should continue to ‘One Country,

Two Systems’ after 2047 are asked, multiple answers allowed)

IVESEEE %N 1
KRB R Hoth
Frequency Percentage out of Valid
Sample
E—
B — 5 REA - 488
1. Democratising further
Z\ E% % S 7 2N
EREIREE . 137 205
2. Safeguarding National Security
. HERIEEEA
3. dHFREEE 428 64.1
Maintaining a high degree of autonomy
EIHRIESRIE . . 386 57.9
4. Maintaining economic prosperity and stability
H =3H)
i GEBD L9 -
5. Others (please specify)
8. IEAIE YFEEH 20 3.0
Don’t know/ Difficult to say '
9. 4@ A
FE4E ] 3 04
Refused to answer
4=t Total 1319
BHRUIEA Valid Sample: 668 HEBEAOmitted Sample: 333

* ZHESEREERYE (AHED) FRUAREEAR AR (1668 A ) fFHIHY « I4h » HNEHZHEL T EN—IHE
% WE LA 100% -
* The percentage of an option is its frequency divided by the number of valid samples (i.e. 668). Since respondents may choose

more than one option, the sum of percentages may exceed 100%.

11



Q19_OTH " {REL R {EFRAEFN20474E - UM EMI R & B B B 2047T IR EME T T —BIWH o BFIE ? 4
(HAthEZE
Q19 OTH ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One

Country, Two Systems” after 2047?” (Other answers)

B [Epa)=w ARESE BEFEESE
Frequency Percentage Valid % Cumulative %
11, EAl : PrEFEER SR E B
Others: Maintaining freedom of 9 0.9 46.0 46.0
speech
12, HAth BB T —H]
Others: Do not implement ‘One 2 0.2 11.4 57.4
Country One System’
13. H = [3ERE VAN VAN
Ff + A PAIE o1 53 627

Others: An egalitarian system

14, HAt : kel EZEE
Others: Withdraw the National 3 0.3 14.6 77.3
Security Law

15, HAM : YRR e mh O
Others: Maintain the status of 2 0.2 8.1 85.4
International Financial Centre

16, HAf - EITEIEEE

0.3 14.6 100.0
Others: Universal suffrage
; Not Applicabl L
0 iEFd Not Applicable 082 08.1 n’%}l@_
Omitted
48=1 Total 1001 100.0 100.0
BREEA Valid Sample: 19 FYEREA Omitted Sample: 982

12



Q20 " FHEEH R L REATEKERYE—F » el BB EH — R R IERTE - AR  ERiEY
BUE? |

Q20 “With the National Security Law having already implemented for a year, do you think the law brings positive,
negative or no impact to One Country Two Systems?’

HREL Hortk AHRESE EX =P
Frequency Percentage Valid % Cumulative %
1. IEE. 211 21.1 21.4 21.4
Positive
2. HH . 577 57.6 58.4 79.8
Negative
fiess &
3. . 134 13.3 135 93.3
No impact
WER1E B
8, AIE 7 SF R 66 6.6 6.7 100.0
Don’t know/ Difficult to say
o IHABEIE 14 14 BrE
Refused to answer Omitted
g&a=t Total 1001 100.0 100.0
FHREEA Valid Sample: 987 BR{EREA Omitted Sample: 14

Q21 "BEEEAFE B FEINAGULEERH R G B - (R AR T —EIfH , WIRIEEEE - aEEE
TEMRIREZEIE ?

Q21 “The election methods of both the Election Committee and Legislative Council are undergoing changes, do
you think this will bring positive, negative or have no impact to “One Country Two Systems”?’

AR Hortk HRHE T ZiEE
Frequency Percentage Valid % Cumulative %
1. Eﬁ_ 212 21.2 21.5 21.5
Positive
2. HH . 588 58.8 59.7 81.2
Negative
biia=Z
3. e 111 11.0 11.2 92.4
No impact
I8 B
8, AIE SR 75 75 7.6 100.0
Don’t know/ Difficult to say
CEEIRS S
o IEHE 15 15 BAE
Refused to answer Omitted
4E=t Total 1001 100.0 100.0
ERUEA Valid Sample: 986 HHEREA Omitted Sample: 15

13



Q22 "MrEiEGHEEI B &AM T EERER#E (FITE -~ g - AR - BIk) ?4g - 563
 EARIEEE ?

Q22 “Would you consider living or moving to other cities of Guangdong-Hong Kong-Macau Greater Bay Area
(for study, employment, business or retirement)?”

HREL Horth AHRESE EX =P
Frequency Percentage Valid % Cumulative %
—E® Definitely will 69 6.9 7.0 7.0
HHES Maybe 126 12.6 12.7 19.7
IEE No 678 67.7 68.6 88.3
8. DE%D}E/#}%&% 115 115 11.7 100.0
Don’t know/ Difficult to say
B4R e HE
9 Refused to answer 13 13 Omitted
4&=t Total 1001 100.0 100.0
BREEA Valid Sample: 998 BYEREA Omitted Sample: 13

Q23 " {RARKAFA R F AR RIBINETRIE ?

Q23 ‘Do you have any plans to emigrate from Hong Kong in the next five years?’

HHEL Hortk BHRE S BN =P
Frequency Percentage Valid % Cumulative %
EFTE Yes 319 31.9 32.9 32.9
fEFTE No 567 56.6 58.4 91.3
WEHIZE 2
Doiqﬁ(n/ogjﬁﬁfﬁcult to say 84 8.4 87 100.0
9. GRS i
fefis%d to answer 24 24 grftted
0. AHEA (EBRS
AN = ERE ) L
Not Applicable (already emigrated/ 7 0.7 Omitted

already possess right to abode in
foreign countries)

48=1Total 1001 100.0 100.0
BHREEA Valid Sample: 970 FYEREA Omitted Sample: 31

14



POL " SEERELBUAM AN - {RESH CHEm U NS EEEE 7 5 GEHL-6)
POL “When asked about your political inclination, which political camp do you incline to identify yourself with?’
(Read options 1-6)

HRE Hortk B ESTEE REASEE
Frequency Percentage Valid % Cumulative %
1. =&k Pro-establishment 115 115 11.8 11.8
2. KT Jk Pro-democrat 222 22.2 22.9 34.8
3. A~k Localist 70 7.0 7.2 41.9
4, fifE]JR Centrist 103 10.3 10.7 52.6
4 NN it
5. LM EUREE No political )0 425 438 96.4
inclination
H : 13 . -
pp, it JREHIR Others: Non- o 0.6 0.7 97.1
establishment
HAfyr - S HEE
g1, efc PEERER 1 0.1 0.2 97.2
Others: Chinese Communist
BRI
gg, | CAUE ArHEE 27 2.7 2.8 100.0
Don’t know/ Difficult to say
99. JE4B[% Refused to answer 32 3.2 ﬂﬁ_
Omitted
4&=1Total 1001 100.0 100.0
FHREEA Valid Sample: 969 BR{EREA Omitted Sample: 32

GENDER =%/# M4 F| Gender of respondents

BB Horth BHESEE BEEESE
Frequency Percentage Valid % Cumulative %
. 5 Male 472 47.1 47.1 47.1
2. 2 Female 529 52.9 52.9 100.0
4E=t (Total) 1001 100.0 100.0
BHREA Valid Sample: 1001 FHYEREA Omitted Sample: 0

AGE T REN LU N ETE4HFIVE 2 | ‘Which age group does you belong to?’
(38 H{Read options 1-6)

BB Hortk HRHE T ZiEE
Frequency Percentage Valid % Cumulative %

1. 18-29 153 15.3 15.3 15.3

2. 30-39 164 16.4 16.4 31.7

3. 40-49 172 17.2 17.2 48.9

4, 50-59 192 19.2 19.2 68.0

5. 60-69 170 17.0 17.0 85.0

6. >70 150 15.0 15.0 100.0

4&=t (Total) 1001 100.0 100.0
ERUEA Valid Sample: 1001 HHEREA Omitted Sample: 0
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EDU 'Rt EfEELF#E0E 2 | ‘What is your educational attainment?’
HREL Hortk HRHE T £ (=i
Frequency Percentage Valid % Cumulative %
1. /NEEC LR Primary or below 92 9.2 9.4 94
) @tp (h—% =) Secondary (F.1- 132 13.2 13.4 22.8
" F3)
3 S (thpuzE g /FER}) Secondary 236 23.5 23.9 46.7
" (F4-FT)
4. H LIRS (EESUE/EIEL/AVE 144 14.3 14.6 61.2
%)
Non-degree tertiary (including
diplomas, associate degrees, IVE, etc.)
KEEE( Bachelor’s degree 311 31.1 31.6 92.8
Wgehe (EFEEIAELE) 71 7.1 7.2 100.0
Postgraduate ~ degree  (including
master’s and doctoral degree)
0. JE4E )% Refused to answer 15 15 ﬂ@_
Omitted
4=t (Total) 1001 100.0 100.0

HRkEZA Valid Sample: 986

HHEBEA Omitted Sample: 15

WORK "R H HHATEAAERE A IE 2 | ‘Are you currently an employed person?’

BB Horth BHESEE BEEESE
Frequency Percentage Valid % Cumulative
7E8% A1 Employed 576 57.5 58.3 58.3
FHEZS Homemaker 79 7.9 8.0 66.3
JB{K Retired person 222 22.2 22.5 88.8
, PR ERCTIE Sk 53 53 53 94.1
Job seeker
5. 24 Student 58 5.8 5.9 100.0
9. E4E2[0)2 Refused to answer 13 13 ﬂﬁ_
Omitted
4E=t(Total) 1001 100.0 100.0

HREEZA Valid Sample: 988
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AR ERR IRERER
Explanatory Notes on Weighting

EEEHE o R AR RS T - (R BB A EEESRS RO B EE SR SR IS 0 45 S e AR B ARl USRS
IR R0E > BB EET oI RE B A DG EIIREGEE - NORER T 1 B & B BUT ST IE A0
F2020 5 R P 18R B BRI R SR o3 i (FLIBRIMERFERE L) RS - FiaiE P ATSAVAR o MBI
CIREta o i FEL BT R - DUE EE AR K i o i 2020 (FORRINERERT) A
Y5l o EAER 73 A RIS 2R i [ A B S et h o B s et 9ehts - Fy e Mt T R B L A AR R A 2k
AR - DOREDT AR Z (D BREAEE - RRIERERYIT -

The telephone survey uses a dual-frame sampling design. It randomly selects phone numbers from a combined
sample of residential landline and mobile phone numbers. As a standard practice, survey data will be weighted by
population distribution in Hong Kong. The weighting factors were adjusted by the proportion of gender and age
of people aged 18 or above (excluding foreign domestic helpers) according to the mid-year population for 2020
statistics released by the Census and Statistics Department. Given many individuals may own both landline and
mobile phone numbers, two steps were added in the weighting method to avoid estimation inaccuracy caused by
double-counting or other unknown factors. The weight factors are as below.

2020 A H1 A1 534
(FIBRIMERE) (%) EEETT RN ZiN
A Mid-year Population N5 (%) IIFERT
Age Group Distribution for 2019 Population  Distribution  of|Weighting Factors

(excluding foreign domestic|Survey (%)
helpers) (%)

5 Male 2 Female |5 Male % Female |55 Male % Female

(A) (B) ©) (D) (AC) (B.D)
18-29 478600 461400 680421 560322 0.703388536  |0.823455317
30-39 466700 536200 709598 510545 0.657696467 1.050249246
40-49 467200 586800 798441 789496 0.585139973  |0.743258723
50-59 541900 632800 911348 765567 0.594613957  |0.826576461
60-69 515500 524800 773264 629786 0.666654931  |0.833298381
>70 419300 499400 638237 459448 0.656966277  |1.086956676
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FB—  EESSRAR
Step 1: Telephone ownership

H R AR (R 8 H BB s R B B sn S - MM T HIRR AR E o RBHIFRE R — ABGEER
RIS - E—PREGEEHZEWERh P E R BIDIES(Z 358 WA 2 E S 4 s s A
FHSRISEH - WL B EEEERS TSR - IR T1 (WTL) Zat R sUR2a& it

IR R E R > BIWTLi = nit -

Since each individual owns a different amount of landline and mobile numbers, each has a different probability of

selection as respondents. To eliminate over-representation of any individual, the first step is to approximate the

probability of selection for each respondent. It is a ratio of the amount of landline and mobile numbers owned by

a respondent to the total number of those in the territory. Weighting factor 1 (WT1,) is calculated by the inverse

of probability of selection of individual i, i.e. WT1i =%

L
= Ir\l,—l; %+ ﬁ x th
= i = Fidh PRy A L
n, = PR T 2N (S|
N, = EER fEE A L RS AR
ti = FiIBAN LRI AN E A E ST H
el = EFPEERZH AR
N = TGRS AR H
Np, = ESEIER Y VRl i
t" = Fita N8 ABEA R TSRS R H
Where i = i-th person selected
ny, = amount of sample’s landline numbers
N = amount of population’s landline numbers
th = amount of i-th person’s landline numbers
el = amount of eligible respondents in the household
Ny, = amount of sample’s mobile numbers
N = amount of population’s mobile numbers
t" = amount of i-th person’s mobile numbers
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SR AOMEE

Step 2: Population estimates

Fo T Res i B BIE FRE R E B N I H B EN - BARAE T AR B4 TR A MY 20194E4E
1 185% s L VeI R Rl i (FUBRIMNEZRBEE L) - SR T-2 (WT2) BUstETTE - BIEACGET
PRI AN O ET > BREACCE IR T LI AR & P e IR A CBEA -

To better represent the distribution of the Hong Kong population, all data were weighted by the proportion of
gender and age of people aged 18 or above (excluding foreign domestic helpers) according to the mid-year
population for 2019 released by the Census and Statistics Department. Weighting factor 2 (WT2) is calculated by
dividing the population estimates of a gender and age group by the sample size of the corresponding group adjusted
by weighting factor 1.

& EE Final Step

B IRER T AETRITAD T ¢

The final weighting factor is calculated by the following formula.

WT_F =WT1 «WT2

## WIF = AR T
WT1 = DIRERT-1
WT2 = DR T2

Where WT_F = Final weighting factor
WT1 = Weighting factor 1
WT2 = Weighting factor 2
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